## **Isomorphisms: Basics**

**Definition:** Let G and H be groups. An isomorphism from G to H is a function

which is bijective and which satisfies  $f(g_1g_2) = f(g_1)f(g_2)$  for all  $g_1, g_2 \in G$ . If an isomorphism exists between two groups G and H, they are called *isomorphic*.

**Example:**  $\mathbb{R}$  and  $\mathbb{R}^{\star}_+$ ,  $e^x$  and  $\log(x)$ .

$$G = R \text{ with addition}$$

$$H = R_{+}^{*} = \left\{ x \in R, x > 0 \right\} \text{ with multiplication.}$$

$$f: R \longrightarrow R_{+}^{*}$$

$$f(x) = e^{x} \text{ is an isomorphism.}$$

$$Remember: (numuse function Hencen says f is bijective (=))$$

$$A has an innumer.$$

$$ln: R_{+}^{*} \longrightarrow R$$

$$e^{\ln(x)} = ln e^{x} = x$$

$$f(q, q_{2}) = f(q_{1})f(q_{2}) \underset{R_{+}}{R}$$

$$f(q, q_{2}) = f(q_{1})f(q_{2}) \underset{R_{+}}{R}$$

$$f(x) = ln e^{x} = x$$

$$f(q, q_{2}) = f(q_{1})f(q_{2}) \underset{R_{+}}{R}$$

$$f(x) = ln e^{x} = x$$

$$h(x) = ln e^{x}$$

**Example:**  $S_3$  and the triangle group

f: trangle 
$$\Rightarrow$$
 S<sub>3</sub>  
symmetry  $\Rightarrow$  corresponding  
permulation J  
of vertures.  
id  $\Rightarrow$  (123)  
rotation  $\Rightarrow$  (123)  
rotation  $\Rightarrow$  (132)  
uit  $\Rightarrow$  (13), (12)  
(allelin (rotatelin) = reflecting frong 2  
(allelin (rotatelin)) = reflecting (rotation right))  
f (rotatelin right) = f ( (reflecting from 2)(rotation right))

**Example:** U(7) and  $\mathbb{Z}_6$  are isomorphic U(7) = { 1, 2, 3, 4, 5, 6 } with multiplication  $\mathbb{Z}_6 = \{0, 1, 2, 3, 4, 5\}$  with addition. 3 has order 6 mod 7 3 (17) <37 = U(7) 2/ 3'=3  $2^{2} = 9 = (2)$ 2 ~ 2 Z. 23 = 6 uns 6 - 3 34 = 4 4-74 S-ns  $\chi^{s} = 5$ 1 -> 6 = 0  $2^{6} = 1$  $f(6.4) = f(3^3.3^4) = f(3^7) = f(3^6.3)$ =f(3)=1 $\begin{array}{c} n(u) \\ n \end{array} \quad f(c) = 3 \end{array}$ f(y) = Yf(e) + f(A) = 3 + A = 0 = 1 $\frac{f(c\cdot 4) = f(c) + f(4)}{2}$  $q: \mathbb{Z}_{c} \longrightarrow \mathcal{U}(7)$  $g(\underline{a}) = 3^{a}$   $g(\underline{a}) = 3^{a+6} = 3^{3} \cdot 3^{6} = 3^{a}$  g is 'uel defined'  $g(\underline{a}) = g(a+6) = 3^{a+6} = 3^{3} \cdot 3^{6} = 3^{a}$  g on  $\mathbb{Z}_{6}$ .  $g(a+b) = 3^{a+b} = 3^{a,b^3} = g(a)g(b)$ . gisomorphism. gris bijective, g(1)=3 g(3)=6 g(s)=5 gris bijective, g(2)=2 g(4)=4 g(6)=1

 $\mathbb{Z}_4$  and  $\mathbb{Z}_2 \times \mathbb{Z}_2$  are not isomorphic.

$$Z_{4} \qquad \text{have four elements.}$$

$$Z_{2} \times Z_{2} \rightarrow (o_{1}o_{1})(o_{1})(o_{1})(o_{1})(o_{1})(1) \qquad (i_{1}1) + (i_{1}1) = (i+i_{1}+i_{1}) = (0,0)$$
Suppose  $f: Z_{4} \longrightarrow Z_{2}$  is an isomorphisms
every elt of  $Z_{1} \times Z_{2}$  is an isomorphisms
$$g_{4} \qquad 1 \in Z_{4} \text{ has order } 4.$$

$$f(1) = q \in Z_{1} \times Z_{2}$$

$$f(1+i) = f(2) = f(i) + f(i) = a + a = 0$$

$$f(2) = O.$$

$$also \qquad f(o) = 0: Prod$$

$$G = S(i) = f(1+0) = f(i) + f(o) = a + f(o)$$

$$a = a + f(o) = f(o) = 0.$$
So  $f \text{ not } \text{ bijective.}$ 

$$NO \qquad \text{isomorphism exists.}$$

Q and Z are not isomorphic Q additive  $\overline{Z}$  additive. Suppor  $f: \overline{Z} \longrightarrow \overline{Q}$ is an isomorphism.  $-pf(1) = Q \in \overline{Q}$ .  $\frac{q \pm Q}{1} = f(1) + f(1)$ if f(1) = 0 then f(1+1) = f(2) = f(1) + f(1)f(2) = 0 so f not bigetive -p(1) = p(1) + f(1)

$$\frac{a}{2} \in \mathbb{Q}$$

$$\frac{a}{2} = \frac{a}{2}$$

$$\frac{$$

## Some theorems

**Proposition:** If  $f: G \to H$  is an isomorphism, then  $f(e_G) = e_H$ .

Proof: we will check that 
$$f(e_G)$$
  
has the property that  $f(C_L)h = hf(e_G)$   
 $= h$   
for all  $h \in H$ .  
Since there is only one element like this,  $f(e_G) = e_H$ .  
Oncose  $h \in H$ .  $h = f(g)$  for some  $g \in G$ .  
 $hf(e_G) = f(g)f(e_G) = f(ge_G) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(g) = h$ .  
 $f(e_G)h = f(e_G)f(g) = f(e_Gg) = f(e_Gg) = h$ .  
 $f(e_G)h = f(e_G)h$  has the identry property so  
 $f(e_G)h = f(e_G)h$  has  $f(e_G)h = f(e_Gg) = f(e_G)h$ .  
 $f(e_G)h = f(e_G)h$  has  $f(e_G)h = f(e_Gg) = f(e_G)h$ .  
 $f(e_G)h = f(e_G)h$  has  $f(e_G)h = f(e_Gg)h = f(e_G)h$ .  
 $f(e_G)h = f(e_G)h = f(e_G)h$ .  
 $f(e_G)h = f(e_G)h = f(e_G)h$ .  
 $f(e_G)h = f(e$ 

**Theorem:** Let  $f : G \to H$  be an isomorphism between G and H. Then:

• G and H have the same number of elements. (same cardinality)

•  $f^{-1}$  is an isomorphism from H to G. Proof: Need to check that  $f'(h, h_2) = f'(h)f(h_2)$ for all  $h, h_2 \in H$ .  $f' : H \longrightarrow G$ .  $G_{iven} h_1, h_2 \in H$ .  $h_1 = f(g_1)$   $h_2 = f(g_2)$   $h_2 = f(g_2)$   $h, h_2 = f(g_1)f(g_2) = f(g_1g_2)$   $g_1g_2 = f'(h_1h_2)$  $f'(h_1|f'(h_2)^{-1}$ 

• if one of G or H is abelian, so is the other.  

$$f: G \rightarrow H$$
 is an isomorphism.  
 $G = belian$   
 $H \Rightarrow h_1 = f(g_1)$   
 $H \Rightarrow h_2 = f(g_1)f(g_1) = f(g_1g_2) = f(g_1g_1)$   
 $h_1h_2 = f(g_1)f(g_1) = f(g_1g_2) = f(g_2)f(g_1)$   
 $-f(g_2)f(g_1)$   
 $f': H \rightarrow G$  is an isomorphism  $= h_2h_1$   
you (an use same argument to show  
 $H = belian = G = belin - belin - belin - belian = belian = belian - belian = belian - belian - belian = belian - b$ 

• if one of G or H is cyclic, so is the other.

f: 
$$G \rightarrow H$$
 (somaphism)  
suppoe  $G$  cyclic.  
Ten  $G = \langle g \rangle$ .  
 $h = f(g)$   
Qaim:  $H = \langle h \rangle$ .  
 $wive shown h_2 = h & bh come i$   
 $f: Z_6 \rightarrow U(7)$   
 $1 \mapsto 3^{i} = 3$   
 $g = g^{i}$   
 $h_2 = f(g_2)$   
 $h_2 = f(g_2)$   
 $h_2 = g^{i}$   
 $h_2 = f(g_1) = f(g_1)f(g)f(g)$ .  
 $h_2 \wedge f(g^{i}) = f(g_1)f(g)f(g)$ .  
 $= (f(g_1)^{i} = h^{i})$ 

• if K is a subgroup of G, then f(K) is a subgroup of H.

$$K \subseteq G \text{ subgroup } f: G \rightarrow H \text{ isomorphicy} f(K) = \{h \in H \mid h = f(k) \text{ in sme } k \in K \}, \\f(K) = \{h \in H \mid h = f(k) \text{ in sme } k \in K \}, \\f(K) \text{ not emply} \\ a_{b} \in f(K) \\ b = f(K_{c}) \\ a_{b} = f(K_{c}) \\ f(K) = f(K_{c}) \\ c \in f(K) \\ c \in f(K) \\ c = f(K), \\ c'' \in f(K) \\ c'' \in e^{-K_{c}} \\ f(K) = f(K) \\ f(K)$$

**Proposition:** Isomorphism is an equivalence relation on groups.

- It is reflexive (G is isomorphic to itself) Find  $f: G \rightarrow G$  that is an isomorphism.  $f = id_G: G \rightarrow G.$
- It is symmetric (if G is isomorphic to H, then H is isomorphic to  $G^{(i)}$  of  $f: G \rightarrow H$  '4 an samephiem  $f^{-1}: H \rightarrow G$  is, too

• It is transitive (if G is isomorphic to H, and H is isomorphic to K, then G is isomorphic to K)

$$f \quad f: G \rightarrow H \qquad g: H \rightarrow K \quad \text{are complused}$$

$$f \quad f: G \rightarrow K \qquad \text{is too.}$$

$$-g_{0}f \quad \text{is by pecture.}$$

$$(g_{0}f)(g_{1}g_{1}) = g(f(g_{1}g_{2})) = g(f(g_{1}))g(f(g_{2}))$$

$$10 \qquad = g(f(g_{1}))g(f(g_{2}))$$

$$= (g_{0}f)(g_{1}((g_{0}f)(g_{2}))$$